22) Si ifu: S
) SlmP‘lfh _El;%—_
What is the denpminatar
Ot the vesulting €xpo nent
We 2.7
) What (s the u-intercept
of the guadirahe
£00= (3% -0 (x-2)7
24) bor the funchion
HX) =X* - 5Xx - M, wihere
L ’r\flf:g(?u\|nogol;L bos’r_lnﬁ .
IhCYeasi nd posihve?
(for all >'<"9 oM
25) B Skoteboovd yomp i$
In the shape of a v%\r
Hhangle ond has
base tength of bteet and
ULh&iQWr of 2.5 teet. what
IS the angle of the vamp?
Rund to the nearest
whole humber. N
2l) The function h(0=—)kt=2%24 +1$
Yepvesthis the height b, of
o ball Yhrown Hom o
window afier, t, seconds. what
& the wital height of the ball
when it was thrown from e
windew?



